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出力書類


HOOflf =%

THEX Sy« TH - FERI - HH50 B PO B B G AT & G| T (G E LM
HEHE R
= 1 214, 015, 660
JE T
= 1 105, 959, 758
I L
m3 1 3,078, 100
I +H
m3 1, 000 307 307, 000
b TE b Cash ERIRY L&)
= 1 2, 654, 000
L
= 1 117, 100
2N
= 1 92, 056, 800
PR (LR B
m3 27, 000 213.4 5, 761, 800
b S TE b Cash ERIRY L&)
= 1 79, 620, 000
FEIA O=27) +H
= 1 6, 675, 000
BEREE T
= 1 10, 538, 370
AR 1
m3 3, 000 322.1 966, 300
b TE b Cash ERIRY L&)
= 1 8, 837, 820
FEIA O=27) +H
= 1 734, 250
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THEX Sy« TH - FERI - HH50 B PO B B G AT & # T (G E LM
FERTIE: 3N
= 1 286, 488
RS AC R =)
m2 690 415.2 286, 488
Mgt R T
= 1 96, 464, 320
HEXTESKRT
= 1 96, 464, 320
TE%E W} O+ B EHIS N 100kg/
3 LAV NREEM (—R%ERES )
m3 33, 300 2,883 96, 003, 900
B AR E S B E - s
= 1 460, 420
Pk A iE ) T
= 1 635, 090
BT
= 1 498, 970
ta-0& (BIEE) HP1-R1-D800
m 10 49, 897 498, 970
HEAKT
= 1 136, 120
UNEEE FiR BF- 1 -B300-L2000
m 20 6, 806 136, 120
WEmRE T
= 1 391, 030
M EUE L 1T
= 1 182, 270
) - M IS B L AT HEEY)
m3 20 8,120 162, 400
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THEX Sy« TH - FERI - HH50 B PO B B G AT & G| T (G E LM
A AR A TAT7VIMEHEERR EH2ERRIE 15em
m2 100 198. 7 19, 870
TEHRALER T
= 1 208, 760
eI 2y -k (SR
m3 20 3,264 65, 280
eI TAT 7V bk
m3 10 4, 688 46, 880
LGy 2y -k (SR
m3 20 3,220 64, 400
LGy TAT 7V bk
m3 10 3,220 32, 200
e
= 1 10, 565, 462
B R B T
= 1 8,931, 162
SHRAR VA L=12m
= 1 8, 725, 800
TERBUEA B Pt - A i
= 1 205, 362
RImE T
= 1 1, 634, 300
AR B
= 1 864, 650
ZRFE AR B
= 1 769, 650
B T HE
= 1 214, 015, 660
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THEX Sy« TH - FERI - HH50 B PO B B G AT & G| T (G E LM
B R
= 1 26, 355, 095
BTl TE:
= 1 3,238, 165
TR
= 1 1,394,112
IR T
= 1 1,394,112
Htre m
= 1 69, 061
B i % FEARTT ARG
= 1 53, 715
A7 b R BR
= 1 6, 668
VAR AN Y g
= 1 8, 678
BUGERRYGEE (5 1)
= 1 1,774, 992
HimE R (FE L)
= 1 23, 116, 930
Wi
= 1 240, 370, 755
BTk X=giiv oy
= 1 77,091, 149
R 5]
= 1 317, 461, 904
— e
= 1 45, 868, 096
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THEX Sy« TH - FERI - HH50 B PO B B G AT & G| T (G E LM
Tk
= 1 363, 330, 000
THE B 2 %8
= 1 36, 333, 000
TG
= 1 399, 663, 000
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